1. PLACE THE TOP UPSIDE DOWN ON
FLAT AND CLEAN SURFACE.

2. ALIGN THE LEGS WITH THE INSIDE
SUPPORT OF THE TOP, MAKE SURE
THAN THE BOTH HOLES ARE
ALIGNED.

3. WHEN THE LEGS ARE ALIGNED, PLACE THE
SCREWS IN THE ORDER AS SHOWN IN FG.A

4. PLACE THE TOP CROSSBAR IN THE MIDDLE
OF THE LEGS AND CENTRAL. FIG.3

DESCRIPTION #

ASSEMBLING INSTRUCTIONS FLAT WASHER 5/16 12

’ INTERNATIONAL SPLIT LOCK WASHER 5/16 12
L@ I-BEN-E002 12 SOCKET BUTTON HEAD 5/16 X 1-1/2 8
SOCKET BUTTON HEAD 5/16 X 2-1/2 4




4. WHEN THE CROSSBAR IS IN ITS PLACE, IS
TIME TO INSERT THE SCREWS AS SHOWN IN
FIG.B

5. TURN THE BENCH CORRECT POSITION
AND PLACE THE SECOND CROSSBAR ON
THE BOTTOM LIKE IN IMAGE 5.

6. FOR THE END INSERT THE LAST SCREWS IN
THE CROSSBAR HOLES AS SHOWN IN FIG. C, AND
USE THE ALLEN KEY FOR TIGHTEN SCREWS.

SOCKET BUTTON HEAD
5/16 X 1-1/2"

SPLIT LOCK WASHER 5/16
FLAT WASHER 5/16

ASSEMBLING INSTRUCTIONS
: INTERNATIONAL
I-BEN-E002 2/2



	Hoja2
	Vista de dibujo1
	Vista de dibujo2
	Vista de detalle A (1 : 4)
	Vista de dibujo4

	Hoja3
	Vista de dibujo5
	Vista de detalle B (1 : 5)
	Vista de dibujo7
	Vista de dibujo8
	Vista de detalle C (1 : 5)

	Hoja4



